Correct configuration

Body OUT 10088
Cover OUT 10092
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Body OUT 10086 split 1
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Cover OUT 10090 split 1

@ Other side:

Body IN 10087: split
Body IN 10089

Cover IN 10093

| Body OUT 10086: split
Body OUT 10088
Cover OUT 10090: split

Cover OUT 10092
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* add 3 tube for Heat exchanger. All 3 of

these "new" multilayer pipes have the

same size, like for example pipe 10051
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Resistor rod OUT INOX
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Y Resistor rod IN INOX
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1A Resistor rod IN INOX
Resistor rod OUT INOX

Heat hanger 2 (multilayer)

Heat exchanger IN (multilayer) F

Heat exchanger IN (multilayer) |
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add 2 Heat exchangers



